https://lwww.leads4pass.com/1z0-067.html

L Qads 4 PQSS 2024 Latest leads4pass 120-067 PDF and VCE dumps Download

170-0679%As

Upgrade Oracle9i/10g/11g OCA to Oracle Database 12c OCP

Pass Oracle 1Z0-067 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.leads4pass.com/1z0-067.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-067 Dumps | 120-067 PDF Dumps | 120-067 Study Guide 1/4


https://www.leads4pass.com/1z0-067.html
https://www.leads4pass.com/1z0-067.html
https://www.leads4pass.com/1z0-067.html

https://lwww.leads4pass.com/1z0-067.html
2024 Latest leads4pass 120-067 PDF and VCE dumps Download

QUESTION 1

A user issues a query on the sales table and receives the following error:
ERROR at line 1:

ORA-01565: error in identifying file \\/uOl/app/oracle/oradata/ORCL/temp01.dbf\\
ORA-27037: unable to obtain file status

Which two actions would you take to recover the temporary tablespace?

A. Drop the tenp01.dbf file, and then re-create the temp file.

B. Add a new temp file to the temporary tablespace and drop the temp01.dbf file.

C. Shut down the database instance, start up the database instance in mount state, create a new temporary tablespace,
and then open the database.

D. Take the temporary tablespace offline, recover the missing temp file, and then bring the temporary tablespace
online.

E. Create a new temporary tablespace and assign it as the default to the user.

Correct Answer: BE

QUESTION 2

Which three types of backups can be performed for a database running in NOARCHIVELOG mode? (Choose three.)
A. backup of only the used blocks in a critical tablespace (SYSTEM or SYSAUX) while the database is open

B. backup of noncritical tablespaces without shutting down the instance

C. backup of only those blocks that have changed since the last backup while the database is mounted

D. backup of the database without shutting down the instance

E. consistent whole database backup

Correct Answer: BCE

QUESTION 3

You create a default Flashback Data Archive FLAland enable it for the EMPLOYEES table in the HR
schema.

After a few days, you want to alter the EMPLOYEES table by executing the command:

SQL> ALTER TABLE EMPLOYEES ADD PHONE NUMBER(12);
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Which statement is true about the execution of the command?
A. It gives an error because DDL statements cannot be executed on a table that is enabled for Flashback Data Archive.

B. It executes successfully and all metadata related to the EMPLOYEES table before altering the table definition is
purged from Flashback Data Archive.

C. It executes successfully and continues to store metadata related to the EMPLOYEES table.
D. It executes successfully but Flashback Data Archive is disabled for the EMPLOYEES table.

Correct Answer: C

Flashback data archives retain historical data across data definition language (DDL) changes to the database as long as
the DDL change does not affect the structure of the table. The one exception to this rule is that flashback data archives
do retain historical data when a column is added to the table. References:

https://docs.oracle.com/cd/B28359 01/server.111/b28286/statements_5009.htm

QUESTION 4

Which two statements are true regarding SecureFile lobs?

A. The amount of undo retained is user controlled.

B. They can be used only for nonpartitioned tables.

C. Fragmentation is minimized by using variable-sized chunks.

D. They support random reads and writes of encrypted LOB data.
Correct Answer: CD

References: http://docs.oracle.com/cd/E11882_01/appdev.112/e18294/adlob_smart.ntm#ADLOB46

QUESTION 5

You want to back up a database such that only formatted blocks are backed up. Which statement is true about this
backup operation?

A. The backup must be performed in mount state.

B. The tablespace must be taken offline.

C. All files must be backed up as backup sets.

D. The database must be backed up as an image copy.
Correct Answer: A

If you run multiple AUDIT statements on the same unified audit policy but specify different EXCEPT users, then Oracle
Database uses the last exception user list, not any of the users from the preceding lists. This means the effect of the
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earlier AUDIT POLICY ... EXCEPT statements are overridden by the latest AUDIT POLICY ... EXCEPT statement
Reference: https://docs.oracle.com/database/121/DBSEG/audit_config.htm#DBSEG459
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